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CHEMISTRY 

CHE-06 : ORGANIC REACTION MECHANISM 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry 

equal marks. 

1. (a) Draw a schematic Potential Energy diagram 
for the reaction sequence A —> B —> C —> D, if 
the thermodynamic stabilities of various 
species are in the order A>D>B>C and 
step C —> D is rds. 	 4 

(b) Write complete equations for the following 

reactions (any two) : 	 4 

(i) Pinacol — Pinacolone rearrangement 

(ii) Crossed Aldol condensation 
Cannizzaro reaction 

(iv) Knoevenagel reaction 

(c) Illustrate with an example a 1,2-elimination 
reaction. 	 2 
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2. (a) What is meant by BAc2 mechanism in the 
hydrolysis of ester ? Outline the mechanism. 4 

(b) Taking any suitable example explain 
`ozonolysis' and its usefulness. 	 4 

(c) What are electrocyclic reactions ? 

3. (a) What are carbenes ? Give two methods of 
their generation. 	 4 

(b) Define any two of the following and give one 
example in each case : 	 4 

(i) Sedatives 

(ii) Analgesics 

(iii) Tranquillisers 

(iv) Antibiotics 

(c) What is meant by SN2 reactions ? 	 2 

4. (a) What is Hofmann rearrangement ? Outline 
its mechanism. 	 4 

(b) With equations explain what happens when 
acetaldehyde is reacted with 1 mole ethanol 
and 2 moles ethanol ? 	 4 

(c) What are the main differences between 
thermal reactions and photochemical 
reactions ? 	 2 
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5. (a) Explain 	Hiickel's 	rule 	with 	any 	two 

examples. 3 

(b) What are 'detergents' ? Justify whether they 

are better cleansers than soaps. 4 

(c) Explain 	with 	equations 	the 	difference 

between Friedel — Craft's alkylation and 

Friedel — Craft's acylation. 3 

6. (a) Give the mechanism of Claisen condensation. 4 

(b) Describe 	classification of dyes 	based on 

method of application. 4 

(c) Give two methods for the generation of free 

radicals. 2 

7. (a) Explain the term 'Oxidation State'. Calculate 

the oxidation state of various carbons in 

ethanol molecule. 3 

(b) Discuss the aromaticity of benzene and 

pyridine. 2 

(c) Which position in pyridine is more reactive 

in electrophilic substitution and why ? 3 

(d) Define electrophile and nucleophile with one 

example each. 2 
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8. (a) What is `Kharasch effect' ? Outline its 
mechanism. 	 4 

(b) How will you effect the following conversions 
(any two) : 	 4 

(i) A suitable Grignard reagent into benzoic 
acid 

(ii) Acetoacetic ester into a ketone 

(iii) 1-propene into 2-propanol 

(iv) Nitrobenzene into m-nitrotoluene 

(c) Write the names of monomers of the 
following polymers (any two) : 

	 2 

(i) Nylon-66 

(ii) Bakelite 

(iii) Teflon 

(iv) PVC 

CHE-06 	 4 



141,7w.t.-o6 

	 (lt.711 Tit) 

BUT 

, 2015 

TfITER lc ui 

ft. .t.-06 : cto Pal aftWErraii**Erftfir 

	: 2 E7uj 	 37ft-dV 31W: 50 

*: A-7--e 	JffT ef4q / F13# APT 	fis 114 

ff 

3T5TWLIT aTiTTE A B —> —> D 

1-4rk:eM   31111g 	[V, zf 145.T 

rdch IzliTREM 	W:f 

A>D>B>Ct WalT WIT C--->DTT -Ntft 
t I 	 4 

	

(ii) 	 aTRTWrT3 	i 1Z-R 	kii4.14)tui 

reuR (Qi q) 
	

4 

(i) 	 - 	F14-ur 
(ii) Off ic••S 

41 ,111 aTfieou 

(iv) 	 aTRTWrr 

	

(Tr) 
	

dcWul 	1721 1,2-fdArR 3TRTWIT 

	iv, I 	 2 

	

CHE-06 
	

5 	 P.T.O. 



2. 	 7-3-1111=ER.  BAc2 WIEFA 	SIT 

3T94 ? 	%-zrrra-R-T tr 111-13-r 

zcrajm ,3cwul 	̀31- 4-3iciErzq' 

zBA't dLiqlf■mi 	WA7 

(T) 	aTrITWrrq TEIT 61cl) ? 

3. 

(TO 

	

4. () 	 FRRIM TEIT 	 ? Wft.  W464RT 

tr-A-R I 

	

(1g)  	1 4.1c11 	 *rf-A-‘ 

1 H•10 •c19)--4-r-  MIT 2 1-1)ci 

*1721 aTkr-wzrr 	'/ET 61di 
	

4 

(Tr) dA4-114 31114-zrrall Mtf *401-ukile41:44, 

315TW1311 * #1.q.  T9,4 3 	r ? 
	

2 

CHE-06 	 6 



5. () 	z-4-r-guil A cr)(..i 	 otilt9e1 

ttf-4R 

(a) `37:rgrr-4*' -4;E1r 	? 1-R *=rr-4R 1* *Err 

Ar-91 A 	 1 	41rnitm old t 

(TO 	 * 	tria — st)pvi 	.ntui 

TAT 5Pria — snits 	*Alq.  ai-d1=1:Tv 

Q1-A- 
	

3 

6. R. kik1-1-1 .Wrire-T ffT-4RI 	 4 

NO OM 	*1 fdf art 1:R 	* cntui -wr 

aufq -ilf7R 

(TO 	100 *t dolPf tt WITati wd-rF 

7. `31:TWR 3T-41:KT' 	*'t oiksen A11-4R 7-)-4fa 

apj 

 

. fetTq  	 ard1:21T 

tiRchciirr4R I 

t•-911-1 r iiRiftgrq 	dcbc1I 

Q-r-A-R 

(T) * 	ni-R41 Trr-d-p-TrER 4 Rrfk-gtq 4 ..t> A-Ar TA-R.  

aTrti* aTria-zrpfra Ala 	1 	? 

*4ni-R--)gl TAT a-rr 	 dqwui 

Aro trfoTrrEfa.  W-4R I 

3 

3 

2 

CHE-06 	 7 	 P.T.O. 



8. () `(g(RI era' err 	 ?Tfft.  fOTTFA 

("4 kg, tr4R I 	 4 

(:4) PHICifigo  	cr*I NchR ch 

(Qi e) : 

(i) w:[-gffi 	 3T5T-*74 A 4*1.- 
31W1 

(ii) 	41e. .1.1k  -e.k 4=raq. 

(iii)  

(iv) -11-1-41.i 	641 

-11-1 tgcl Ayd-4 * 	* 'TR WUR 

(4) 	: 	 2 

(i) 	-11*c...11-1-66 

4 

(7) 

CHE-06 	 8 	 2,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

